Résoudre les équations suivantes :

1. 3x—3+5:32
2. 23x+4-20=-12

3. q—x+a—7:28

Solution
Numéro 1 Numeéro 2 Numéro 3
3|x-3|+5=32 2|3x+4]-20=-12 5|-x+2|-7 = 28
3|x-3|=27 2|3x+4|=8 5]-x+2| =35
[x-3|=9 [3x+4|=4 [-x+2]| =7
Xx-3=9 et x-3=-9 3x+4=4 et 3x+4=-4 X+2=7 et -x+2=-7
x=12 X =-6 3x=0 3x=-8 -Xx=5 -Xx =-9
x=0 X =-8/3 Xx=-5 X=9

Donne ces fonctions sous la forme canonigue f(x)ax - h| + k

1. f(x) = 4|-3x-6| + 8
2. g(x) =-2|8 —4(x+6)[ - 9

Numéro 1

f(x) = 4/-3x-6| + 8

f(x) = 4]-3(x+2)| + 8
f(x) = 4x|-3|x|x+2| + 8
f(X) = 4x3x|x+2| + 8
f(x) = 12|x+2| + 8

Numéro 2

g(x) =-2|8 — 4(x+6)| - 9
g(x) =-2|8 —4x —24| -9
g(x) =-2|-4x — 16| -9
g(x) = -2|-4(x+4)| - 9
g(x) = -2x|-4x|x+4| - 9
g(x) = -2x4x|x+4| - 9
g(x) = -8[x+4[ - 9
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